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and we get the other conclusion as well

b we integrate the equation in part a and use
Stokes's theorem to get
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and we get the second inequality as well
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2 want to prove
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reiterating once more

andhousewegettheresult
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on 1 T'M We use the result fromthe lecturenotesaboutthe
Ricciunvature being the averageofsectionalcurvature weget
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differentiating bothsidesandusing
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RFO andNRFO differ only by a scaling of
space and time

Let g t be a RF and suppose M has finite
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we exactly know how geometric quantities scale

as per the scaling of the
metrics
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from and we get
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so starting from
a sol get of the

RF by
dilating space

and time we got a sol of the

normalized Ricci flow


